(8] EEHRBAESRERER
X&4 FE370HBTRE—X I-F: (1916 0002) | HFTLHE 58 268  |5EHIE HEHELSERES 1-M: (162080)
#H X% | BE IEfL K4 £k TR il 23 g 42 K4 £ R a0 8% g 52 K4 £ R ko3 Bz K4 &£l R ik 23
M30 | -1.2 [ 1 [/hith 1BEE 33 |talET™H 7.24 2 |4 EE 33 |EM™ 7.85
was | 720 1 |EE BE 46 | K™ 755  xem | 2 |[RE ¥R 47 |RRE™ 805 -22 3 |RiR BEAI 46 |FalETH 8.28  -20 4 | FHX 49 |FrilETH 831 -22
22| 5 |x@ %A 47 |\Frim™ 835 -20 6 |thx HE 46 |FriET 8.36  -20 7 |AK K 48 BER 851  -22 8 |#il 8 48 |FriETH 9.65 -22
M50 | -05 | 1 |$#F8 EiE 54 |ARH 8.72 2 Bl EF 52 | =&t 8.85
M55 | -0.5 [ 1 |8 Rl 56 |BEEE 8.46 2 |BH FA 57 |HER 8.55 3 BB kM 55 |#f kT 9.05
60m M60 | -1.6 | 1 )il BRZ | 62 |RERHR 9.19 2 \K BIX |63 RKH 9.74
M65 | -1.6 [ 1 |h¥ B 65 |FTiRR 8.65 2 |&k®n EZ 69 | R 9.88 3 |NE B-— 67 |{iE™ 10.31
M70 | -1.6 [ 1 | K3 BHR 71 |EWLR 9.95
M75| -3.0 | 1 |§3 <Pl | 76 |[RE™ 10.70 2 8RR B | 76 |FrBR™ 13.02
M8o|-30| 1 |BR #X 80 |talET™H 12.02 2 |BAR B 81 (FIEEM| 1232 3 (ILiF ZEAR 84 \#fEmh 13.33
M85 | -30| 1 |FR & 87 |IMNF&AT| 1497
M30 | =11 [ 1 [/hith 1BiE 33 |talET™H 11.27 2 |4 EE 33 | R 11.53
M35 | -1.1 | 1 |IUE #REh 39 |FriET™ 12.34
M40 | -1.1 | 1 |[h& E— | 43 |FTiBT 12.52 2 |[BE = 44 |M _LHT 12.52 3 |hE BR | 43 |[HEH 12.63 4 |RB R | 41 |[EBR 14.84
1 |E#E BE 46 | K™ 1166 w 2 |FEH =L 43 |FriRTH 1220 w 3 (KB Rk 47 |EM™ 12.40 07 4 | FHX 49 |FriRTH 1281 w
was | 29 |75 |mim mml [ 4o e | 1282 w | o |t @2 |49 |[RER | 1325 o1 | 7 [Ak B |48 |MLR | 1343 o1 | o [mEE |40 [Hmm | 1388
9 |A# ME | 45 |FRTm 1395 o7 10 [#)Il & 49 |FiB™ 1409 w 1 |k MFE | 48 |FimT 1460 w 12 [R2@ & 48 |Frim™ 1577 o7
mso | 16 | |LH = 51 | 12.82 2 Mk —%& |51 |RRM 13.10 3 |BiR EE |52 |FEm 1351 4 |#m EE |54 |HE® 14.04
100m 5 |fIH =& 50 [/MF&T| 15.60
M55 | 18 [ 1 |B%k FA 57 |BHER 13.11 2 [[BHF R 56 |B¥EIR 13.25 EH EE 58 |PIEEFH| 13.68 4 |&F BXES | 56 [HEH 14.10
M60 | +0.7 | 1 |$EO &= 63 |FriamT 14.93 2 |R&BN EE |60 |FBTH 15.58 MR R | 63 |FET 16.65
M65 | +0.7 | 1 |hF FHEHE 65 |FiRE 13.54 2 |dts EZ 69 |RME™ 19.84
M70 | -0.3 | 1 |[pIER E 72 |FriRT 14.73 2 | K BR 71 [EWLER 16.10
M75| -03 | 1 |SH =Pl 76 |[RE™ 16.92
M80 | 0.9 | 1 |PARS REER 81 |PIEEF™| 20.09 2 (L ZEIR 84 |#f kT 23.02
M85 | 09 | 1 |2uF ELER 85 |talG™H 1797 =x&% | 2 |#H F 86 |#TiT 25.03 3 |ER 2 87 /NF&T| 26.00
M30 | +2.6 | 1 |48 83 33 |EM™ 2350 w
M40 | +2.6 | 1 |#B% = 44 |E LHET 2567 w
M45 | 03 | 1 |EBE BE 46 | RfE™ 2429 x=% | 2 |HBE ERX 47 |RRE™H 26.18
200m M50 | 03 | 1 |/h#k —F 51 | R 26.82 2 B2 EF 52 | =& 29.57
M55| 08 [ 1 |F#k FA 57 |HER 27.55 2 |iBFH B 56 |B¥EIR 28.32
M60| 08 | 1 [KEO EME | 63 |FiBTH 31.25 2 /MRF KRB | 63 |FRT 35.04
M70| 08 | 1 |fER E 72 [FriRT 31.31
M50 1 —% 51 |AR™H 1:02.76
M55 1 |FEE IEE 58 | 1:15.29
400m M60 1R & 62 |FfiAm| 1:13.13
M70 1 |18 B 74 |REH 1:19.72
M80 1 MRl R 81 |BEJI#¢ 1:27.03 2 B2 ®= 80 |ER™ 1:40.19
M50 1 iR EA 52 | =& 2:39.20 2 |FHM E 51 |BERR 2:54.31
M55 1 |BTER IEAH 55 /INF&T™| 2:35.97
M60 1 |FEIER BR— 62 |RfE™ 2:34.89 2 |[fEO =0 63 |FTiTH 2:46.20
800m M65 1 |FT BEA 67 |fiE™ 2:46.79
M70 AT 73 |FrilT 3:14.21

IN—=o




(8] EEHRBAESRERER
X&4 FE370HBTRE—X I-F: (1916 0002) | HFTLHE 58 268  |5EHIE HEHELSERES 1-M: (162080)
#H X% | BE IEfL K4 £k TR il 23 g iz K4 £ R a0 8% g iz K4 £ R ko3 Bz K4 &£l R ik 23
M75 1 R R 76 |$imTh 3:37.54 2 |/ ERE | 75 BB 4:03.10
M80 1Rl R 81 |BaJII#¢ 3:27.85
M85 e 89 |FrilTh 4:42.13 2 [A¥E 8% 85 |5 iRHET 5:22.24
M45 1 |H £ 49 |FriET™ 6:23.10
M55 1 |FATER IEA 55 [/NF AT 5:28.16 2 |tkBE Fz 57 |FriTH 6:09.13
1500m | M60 1 |FEIER BR— 62 |RfE™ 5:13.99
M65 1 |FT BEA 67 |fiE™ 5:35.41
M70 AT 73 [FrilT 6:28.67
M50 1 |EE Az 54 |fHUET | 12:10.78 2 B8 & 51 |BEBEER | 12:58.17
M55 1 |RE B 59 |fiEM | 12:26.64
3000m | M60 1 |FEIER BE— 62 | | 11:00.15 2 [ENl = 62 |Frim™ | 13:35.12
M70 1 |Ft #— 71 |BRER | 12:21.43 VI 73 |#rEmT™ | 13:37.87
M85 1 |HF¥E BX 84 |iZiRET | 24:47.05
M60 1 |HE EE 64 |t £ | 20:00.14
5000m | M65 1 |FT BEA 67 |fiE™ | 20:06.39
M75 1 |ZEHE J\BB 76 |RHi™h | 23:08.34 A&#H
110mH | M30|-1.0| 1 |&RE F#t 33 |#rilam™ 15.10
400mH | M55 1 |FEE IEXE 58 |#riTT 143.51
M40 1 /NS & 42 |faiGT | 10:48.84
8000msC M45 1 |pTER —E 47 | % MJIH| 10:39.51
M35 1 [k S8l 35 |Frilm | 15:22.38
M50 1|58 B 51 |BER | 19:45.69
3000mW | M55 1 &% iz 57 |FiB™ | 17:28.62
M65 1 | Kk 5% 68 |talE™ | 18:18.25
M75 1 |KE BE 79 |[FEE | 20:25.61 2 IV BRE 75 |FiimT | 23:47.54
M40 1 |iFK 28] 44 \Fhimm™ 1m75 2 |B#E Rt 43 |READ 1m60 3 |#E)Il FHR 44 |H EHT 1m55 4 |IFZHE 8 42 | E#TH 1m30
- M45 1 |8 %Al 47 |FriT™ 1m40
M55 1 [ SeEE 55 |#f 1m45 2 |tk HTE 57 |#f £ 1m40
M65 1 |NE B— 67 |{iE™ 1m15
— M65 1B & 67 |REJIT| 2m90 xasxq
M70 L] 71 [FiRT NM
M45 L 47 |FriT™ 5m37 29w 2 | kg B 49 |EHE 5m34 19 3 |KH 1813 46 |Frim™ 4m30 09 4 FIE B—ER | 46 |FRiB™ 4m20 09
5 @l E 49 |Fri|T™ 4m04 14
M55 1 |EkE FE 57 |#t £ 5m16 2 k2%
EnE Bk M60 1 |hE Bz 62 |BRIE# | 4mi15 15
M75 1 |EID RAEE 77 |FiRT 3m49 19
M80 1 |BARE SRR 81 |FIEEFM| 2m61 0
M85 1 |5R 2 87 |INFAT| 2m23 15
M30 1| X5 FH 33 |FiB™ | 12m38 12
- M45 1 |KH &8 46 |FriaT™ 9m70 12 2 |*ME Bs—ER | 46 |FiB™ 8m46 16
M55 1 |Ek FHE 57 |[ff £ | 10m64 05
M75 1 [ED RAEE 77 [FiRT 8mi14 28w
M30 1 | ER B 33 | EHE 10m97
M45 NI 46 |FriRTH 9m52 2 /3 R=T




(8] EEHRBAESRERER
X&4 FE370HBTRE—X I-F: (1916 0002) | HFTLHE 58 268  |5EHIE HEHELSERES 1-M: (162080)
#H X% | BE IEfL K4 £k TR il 23 g 42 K4 £ R a0 8% g 52 K4 £ R ko3 Bz K4 &£l R
M50 1 |JEE FEE 52 |E&REI2 9m85
M55 1 |=% BT 57 | Rt 11m40
FasfLix M65 1 |FAR th— 67 |FriaTT Tm15
M70 1 @A 5 | EER 11m47  x2%
M75 1 |=EH AR | 78 |FriAE™ 8m58 2 |IVk BRE 75 (il 6m25
M80 1 |BER #X 80 |talET™H 6m21
M85 1 |25 5hBA 86 |talE™H 9m71
M45 1| @il 46 |FriEaT™ 27m72
M50 1 |#BHE F= |52 |FEH 37m67
me M65 1 |[fEBE BB 67 |#TFEHEM™| 28m69
M70 1 @A % 71 |BEER 30m42
M75 1 |EHE A | 78 |Fim™ 19m50
M85 1 |21 L8 86 |talE ™ 21m66 x2% | 2 |&R & 87 R 18m69 3 [4EFH =R 85 |talE ™ 16m96
M30 1 |ER & 33 | EHE 45m80 k2%
M45 1|15 & 49 [ RHE 24m44
NoI—1% | M60 1 |ER £= 60 IFER 39m84
M70 1 |E@A &8 71 |EER 34m99
M85 1 |55 =8 85 |talGT™H 23m60  wwxzs| 2 |&IR R 87 |RfEH 21m34
M30 1 kR A 34 |Fri|T™ 47m93 k&%
M45 1 v R 46 |Fimm™ 44mb52 x2% | 2 |AE fE#% 47 |k 39m43 3 (HIl & 49 |FriaT™ 19m92
PYE M50 I EA S 50 |FEAAE 42m16
M55 1 =% BT 57 | R 42m70
M65 1 |E8 & 68 |FAJIT| 23m13

3/3R=T




